Economic Policy 20/7/2015
(Guideline: Stick to the question and don’t divagate, always justify your answer)

1.   Show how a deficit in the balance of payments  is recorded in the balance sheet of the Central Bank. Considering  the  above what are the  macroeconomic consequences of the deficit?

2. The announcement of quantitative easing has brought about a depreciation of the Euro. Explain why.

3. Under fixed exchange rates the rate or interest in country A is higher in equilibrium than the rate of interest in country B. How can this  be explained?
4. In the perspective of the Ricardian Equivalence an increased budget deficit is believed to lead to a corresponding increase in private savings because of the wealth effect of the expected future taxation. What then would become of the twin deficits hypothesis?

5. In case of a break-up of the Eurozone what would be the advantages and disadvantages of alternative monetary arrangements? Consider the different scenarios on the basis of the historical experience, and of  the possible impact on the single European market.
6. Is the International Investment Position of a country or some relevance for explaining the difference between GNI and GDP? Explain.
7. A currency board is an institutional arrangement aiming to cure an economy for a propensity towards inflation or deflation? Explain.
Economic Policy 8/6/2015
(Guideline: Stick to the question and don’t divagate, always justify your answer)

1. What is the impact of the current account balance on the dynamics of the international investment position of a country?

2. Is a persistent deficit of the balance of payments of the United States sustainable in the long-run? What about a persistent deficit of the balance of payments of Poland?

3. What are the monetary consequences of a deficit in the balance of payments?

4. Effect on the exchange rate of a sterilized purchase of foreign assets under perfect asset substitutability.

5. In our textbook model with perfectly flexible exchange rates how is the economic balance of payments supposed to be?

6. Consider two possible outcomes of present ECB Quantitative Easing: 1. according to the first scenario QE is unsuccessful and does not bring about an increase in the Eurozone GDP; 2. according to the second scenario QE is successful and does bring about an increase in the Eurozone GDP. By drawing on what has been learned in the course of the lectures attempt to predict what could be the consequences of the two alternative scenarios on the Euro exchange rate (as calculated by weighting the exchange rates of the different currencies according to their role in the Eurozone international trade).
7. Can an appreciation of the currency bring about an increase in the current account balance?

8. Would it be possible to take advantage of violations in the interest parity condition without actually doing something risky?

9. On what assumptions does the Fisher equality lie?

10. What could have been the impact of the “original sin” on the Latin American Financial crises?

Economic Policy 17/9/2015
(Guideline: Stick to the question and don’t divagate, always justify your answer)
1. Explain how the following transactions are recorded in the Balance of Payments:
A) An American citizen purchases some British equities with a check drawn on his account in a US bank.

B) An American citizen purchases through e-bay ten bottles of whisky from a Scottish producer paying with a  draft drawn on his US bank account.

2. Explain the following sentence from the Economist 1/8/2015:
“Turkey’s external position also makes it peculiarly vulnerable. The combination of low saving and high investment means that it has long run a large current-account deficit: in 2014 it was, at 6% of GDP”.
3. From  CityAm, London 13/8/2015: “Sterling fell to a one-month low against the Euro yesterday after data showed  Britain's bumper wage growth had slowed, while unemployment unexpectedly rose again”. Explain.
4. If a country belongs to a monetary union is the relevance of its fiscal policy enhanced or reduced in comparison  to the case in which it has its own money in a flexible exchange rate framework? Consider this issue in the framework of the model of fiscal policy expounded in the textbook, first assuming, for simplicity, that the economy of the country is “small” (this means negligible) in relation to that of the  union. How would the issue change if its dimension in relation to the union is not “small”?
5. Consequences of imperfect asset substitutability and of portfolio differentiation on the interest parity condition.
6. Explain the impact of the balance of payments on the quantity of money, and the economic consequences thereof.

7. What circumstances may lead a country to institute a currency board?

Economic Policy 22/4/2015
(Guideline: Stick to the question and don’t divagate, always justify your answer)

1. What is the impact of the current account balance on the dynamics of the international investment position of a country?

2. How can  the expected future exchange rate be concretely estimated?

3. What are the monetary consequences of a deficit in the balance of payments?

4. Effect on the exchange rate of a sterilized purchase of foreign assets under perfect asset substitutability

5. What is the economic balance of payments in our textbook model with perfectly flexible exchange rates?

6. Consider two possible outcomes of present ECB Quantitative Easing: 1. according to the first scenario QE is unsuccessful and does not bring about an increase in the Eurozone GDP; 2. according to the second scenario QE is successful and does bring about an increase in the Eurozone GDP. By using the framework learned in the course of  lectures attempt to predict what could be the consequences of the two alternative scenarios on the Euro exchange rate (as calculated by weighting the exchange rates of the different currencies according to their role in the Eurozone international trade).
7. Can an appreciation of the currency bring about an increase in the current account balance? Discuss

Economic Policy 30/6/2015
(Guideline: Stick to the question and don’t divagate, always justify your answer)

1.   Show how a surplus in the balance of payments  is recorded in the balance sheet of the Central Bank.

2. In case of a demise of the Euro what alternative exchange rate mechanisms could be envisaged between the national currencies of the countries of the European Union? Explain the advantages and disadvantages and the consequences for the single market.

3. In the fiscal policy model of the textbook how would an increased risk premium associated to deficit financing impact on the short run consequences of a permanent fiscal expansion? How would the conclusion change if we consider the impact that in the real world changes in interest rates have on demand for investment and consumption?
In case of absence of risk premium in the new equilibrium compatible with interest parity the rate of interest is higher. Therefore the level of GDP will be higher (look on the equilibrium conditions in the money market). But if the expansionist policy is associated with a reduction in the other components of demand (because of the increased in the interest rate) the fiscal expansionist policy will be partly compensated by the reduction of investment and therefore the rate of interest and the national income will be lower.

4. One may expect a lesser developed country to present higher rates of inflation in the consumer purchasing index than a more advanced one because of the Balassa-Samuelson effect. Discuss

5. In 2011 the government budget balance of Hungary was 4.6% of National Income and the Current Account balance 0.8%. What information do these data provide on the rates of savings and of investment in Hungary?

6. You are the chief financial officer of a multinational. What considerations would guide you in the management of its international liquid assets?

7. Discuss the following statement: “When a change in a country’s nominal interest

rate is caused by a rise in the expected real interest rate, the domestic currency

appreciates. When the change is caused by a rise in expected inflation, the currency

depreciates.”
Economic Policy 7/1/2014
1. Does an increased budget deficit imply an increased deficit of the current account? Explain.

2. Does a deficit in the current account imply a deficit in the balance of payments? Explain.

3. A permanent deficit of the American balance of payments could be considered to be a physiological or pathological feature? Why?
4. The interest parity condition: what is its rationale? Does it always hold in the real world? Why?

5. What are the consequences on national income and the current account of an expansive monetary policy? Present a graphical discussion of  this issue.

6. According to you stable non-inflationary policies could allow emerging countries to get rid of the “original sin”? 

7. What objectives of economic policy can be pursued through a currency board? Discuss its advantages and disadvantages.

Economic Policy 4/2/2014
1. What could be the explanation of the Irish remarkable difference between GDP and GNI  (17% in 2006)?

2. What impact has the balance of payments on the dynamics of the Net Investment Position of a country?

3. The British pound (that has a floating rate regime) is currently in the process of appreciating notwithstanding a remarkable deficit in the current account balance (around 4-5% of GDP). How can this come about?

4. Consider the different efficacy of fiscal policy when a Eu country has its own currency and when it a member of the Eurozone. (Suggestion: use the AA-DD framework.)

5. Is an increase in the rate of interest always accompanied by an appreciation of the currency?

6. What objectives of economic policy could be pursued with a devaluation? With what possible outcomes?

7. What objectives of economic policy can be pursued through a currency board? Discuss its advantages and disadvantages.

Economic Policy 3/6/2014
(Guideline: Stick to the question and don’t divagate, always justify your answer)

1. Is it possible for a country to have a budget deficit and a surplus in the current account? To have a balance of payment deficit and a surplus in the current account? To have a balance of payments deficit and a deficit in the official transactions?

2. Does a deficit in the balance of payments imply that the net foreign wealth of the country has decreased?

3. Why does a temporary increase in government spending cause the current account to fall by a smaller amount than does a permanent increase in government spending?

4. Discuss why it is often asserted that exporters suffer when their home currencies

appreciate in real terms against foreign currencies and prosper when their home

currencies depreciate in real terms.

5. What can be the reasons why in practice the interest parity conditions may not hold?

6. Imagine that the EMS had become a monetary union with a single currency but that it

had created no European Central Bank to manage this currency. Imagine instead that

the task had been left to the various national central banks, each of which was allowed

to issue as much of the European currency as it liked and to conduct open-market

operations. What problems can you see arising from such a scheme?

7. Can a government always collect more seigniorage simply by letting the money supply

grow faster? Explain your answer.

Economic Policy 14/7/2014
(Guideline: Stick to the question and don’t divagate, always justify your answer)

1. Explain how each of the following transactions generates two entries—a credit and a debit—in the American balance of payments accounts, and describe how each entry  would be classified:

a. An American buys a share of German stock, paying by writing a check on an account with a Swiss bank.

b. An American buys a share of German stock, paying the seller with a check on an  American bank.

c. The Korean government carries out an official foreign exchange intervention in which it uses dollars held in an American bank to buy Korean currency from its citizens.

d. A tourist from Detroit buys a meal at an expensive restaurant in Lyons, France, paying with a  check.

e. A California winemaker contributes a case of cabernet sauvignon for a London wine tasting.

f. A U.S.-owned factory in Britain uses local earnings to buy additional machinery.

2. The British economy has a large current account deficit (about 5%) but its currency is appreciating. What could be the explanation?

3. A new government is elected and announces that once it is inaugurated, it will increase the money supply. Use the DD-AA model to study the economy’s response to this announcement.

4. Other things equal, how would you expect the following shifts to affect a currency’s real exchange rate against foreign currencies?

a. The overall level of spending doesn’t change, but domestic residents decide to spend more of their income on nontraded products and less on tradables.

b. Foreign residents shift their demand away from their own goods and toward the home country’s exports.

5.Explain the Marshall-Lerner condition
6.Movement of workers between Italian regions is relatively small, their economic specialization and economic conditions are different, leading to asymmetric economic shocks. Should then different currencies be introduced in the different Italian regions?
Economic Policy 19/1/2015
(Guideline: Stick to the question and don’t divagate, always justify your answer)

1. The nation of Pecunia had a current account deficit of $1 billion and a nonreserve

financial account surplus of $500 million in 2008.

a. What was the balance of payments of Pecunia in that year? What happened to the

country’s net foreign assets?

b. Assume that foreign central banks neither buy nor sell Pecunian assets. How did

the Pecunian central bank’s foreign reserves change in 2008? How would this official

intervention show up in the balance of payments accounts of Pecunia?

c. How would your answer to (b) change if you learned that foreign central banks had

purchased $600 million of Pecunian assets in 2008? How would these official purchases enter foreign balance of payments accounts?

d. Draw up the Pecunian balance of payments accounts for 2008 under the assumption

that the event described in (c) occurred in that year.

2. Suppose Russia’s inflation rate is 100 percent over one year but the inflation rate in

Switzerland is only 5 percent. According to relative PPP, what should happen over the

year to the Swiss franc’s exchange rate against the Russian ruble?

3. Does the current account necessarily improve after a depreciation of the currency?

4. Suppose the Eurozone breaks down and the Euro is abandoned returning to separate national currences. Taking into consideration the history of the  EU countries pre-euro exchange arrangements, which kind of alternative exchange rate system would you envisage inside the European Union, with what  consequences on the EU and on the single market?

5. Typically, though not always, long-term interest rates are above short-term rates. Suppose however that at a particular moment the contrary applies and long-term interest rates are below short-term rates. In terms of the Fisher effect, what would that pattern say about expected inflation and/or the expected future real interest rate?

6.  Suppose that interest parity does not hold exactly, but that the true relationship is R = R* + (Ee - E)/E +  ϱ, where ϱ is a term measuring the differential riskiness of domestic versus foreign deposits. Suppose a permanent rise in domestic government spending, by creating the prospect of future government deﬁcits, also raises  ϱ, that is, makes domestic currency deposits more risky. Evaluate the policy’s output effects in this situation.

